Test Paper |
Test Subject LAW
Test Subject Code : K-1815

Test Booklet Serial No. :

OMR Sheet No. :

Roll No.

(Figures as per admission card)

Name & Signature of Invigilator/s

Signature

Name
Paper
Subject

Time : 1 Hour 15 Minutes

|
LAW
Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

et HreR RuRnd
1. BFPUT Be00HY wWwBNT :j;éd@q Qe Beeer® Rﬁowd@tud’oﬁo&
2. B BYIeI0 D 03, AFT 0T @jeé’tﬁefdgt LERRORT.
3. Toego B, HIBRBD, DR ABRID. FpEV5 AW,
o) a’g)géofoazt BB000 32 FINF0E BN TOCETO FRETTONG,
(i) S DI FBemoessos Trodwd, Bt BROE PUE oess SIS
TWeTO® AR, TOOKRO. ABT® AT QYT &Hew TOB BT,
%eé@zﬁzﬁe@.
PRIDHOR FIne Hosd, why Fune Rosd o FoDPUR hedd
TORT FPtedcd Rt 3¢ SoeR0. rinth/ T PEERG,
BT &53 ST WRTTODINOT ST V3T 3R FI3
BREIZPOS @)_i;%oﬁ)ﬁi%.raﬁe% AWRT =R wer, ;ﬁoacﬁjaod 30
BT PHRIR WTTIRFRY WD, B WeT FF T T,
WRTRONITIDZ A, o3RI q%zs% RCDHTRR, BRTSNPYAY,
4. TaciredFIRR(A), (B), (C) m3(D) 200 BT me Hodmrod
VIOV, ez géoda 2T FOCINT YUZTT F0eeS, T ToBRTS
@om%éo&)dl BTINRLIERD.
VTR

® @ ©

(C) BOCINT WZTNTH.
5. @3 38 | 09 douthm OMR wigs meche), BF, B3¢ | 0

> L) >

B3 B8l SO acom FFner ATy GITRERy mwzss&%%. OMR eveo
TFCDY @om%éc;bqqd 23e0 can)Te z:;ﬁidq emgo’ddl THTY8TT,
200 FRYFRTT SRERMRO,

6. OMR ©u80 mvond, 8rt, RABESMVRD, tncRTEN0s b0

PR, O FORTR), R BRFY, BREIE .

8. Ay TR, WHTONTRIWTOWT Ay THTO WFe CINT)Te
WBOIR, RornSemss zj;af Tp02 Ter, OMR vgc mded cdnmce
WNTY, WTTT, D6y WSBFEST PP THNTIG 0.

9. oedodn FoNTFeST, Freddmn OMR wugd edesdmd Boneggont

ey GoodONRedesd 08y Toesy, Frsied Eeort OMR & dsgeon

BROBROIBRTETD.

BoeBed> Fo3T, Boew, WY BT, =0y Fsew OMR 683 Fovodd),

REREON BRFROED BRERWTI.

e/ 3R) LR T’ B IRI[e womedeeNC.

12. nﬂooédcasc@ SFT TN 50T BT/ROD Wﬁo&mﬂdé& JFeRRTINT.

13. 50 wuE YUITRER 93080 WoF VDAY .

14, 353 030 Vo= w3nY BT BLINCY cdnhie dedod FT AN

ForOWORY , VONLT SFINTYOTRTe wodmweomd BonedxRLes.

(ii)

N

10.

11.

Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of the cover page. Do not accept a
booklet without sticker seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

5. Your responses to the questionsare to be indicated in the OMR
Sheet kept inside the Paper | Booklet only. If you mark at any
place other than in the ovals in the Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of OMR
Answer Sheet soon after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

In case of any discrepancy found in the Kannada

translation of a question booklet the question in English
version shall be taken as final.
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LAW
Paper - I

Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. Which is the correct order ? 4. Which of the following Writs is directly

(A) Liberty of thought, belief,
expression, faith and worship

(B) Liberty of thought, expression,
belief, faith and worship

(C) Liberty of expression, belief,
thought, worship and faith

(D) Liberty of belief, thought,
expression, faith and worship

. The protection and improvement of
environment including forests and
wild- life of the country is

(A) Directive Principles of State policy
(B) Fundamental National Policy

(C) Fundamental Duty of a Citizen

(

D) Both Directive Principle of State
Policy and Fundamental Duty of a
Citizen

. After which one of the following
Supreme Courts decision was the
special provision for socially and
educationally backward classes
introduced by an Amendment to the
Constitution ?

(A) Balaji v. State of Mysore

(B) State of Madras v. Champakam
Dorairajan

(C) Devadasan v. Union of India

(D) Periakaruppan v. State of Tamil
Nadu

K-1815

related to the protection of right to
personal liberty ?

(A) Mandamus
(B) Habeas corpus
(C) Quo warranto
(D) Certiorari

. Match the following :

a) National i) Article 316
Emergency

b) President’s ii) Article 360
Rule

c) Financial iii) Article 356
Emergency

d) Public Service iv) Article 352
Commission for

Union
Codes :

@ @ (@ @@
(A) v iii ii [
(B) ii iii [ iv
(C) i ii i iv
(D) i ii iv iii

. A judge of the Supreme Court or High

Court may be removed from his service
by
(A) The President of India

(B) Parliament through Impeachment
motion

(C) Chief Justice of the Supreme Court
(D) National Judicial Academy
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Schedule IX was inserted in the
Constitution of India by

(A) 1% Amendment, 1951

(B) 42" Amendment, 1976
(C) 44™ Amendment, 1978
(D) 52" Amendment, 1985

Which of the following is not correctly
matched ?

(A) Conventional custom : Usage

(B) Legal custom : Binding force of law
(C) Valid custom : Reasonableness
(D) Usage : Common Law

Examine carefully the two statements
iven below and select answers from
the answer code :

Assertion (A) : Once decision is
overruled it loses its
binding authority.

: Precedentis a source of

Reason (R)
Law.

Codes :

(A) Bothﬂé and (R) are individually true
and (R) is the correct explanation
to (A)

(B) Both (A) and (R) are individually true
bAJt (R) is not correct explanation to

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

Consider the following statements with
respect to analytical school of
jurisprudence and identify the correct
statement.

1) Law is posterior to state

2) Law is what the ruler decides it to be

3) Custom has no place in law
)

4) Law should always confirm to the
popular consciousness

Answer Codes :
) 1and 2

) 3and 4

) 1,2and 3
)

11.

12.

13.

14.

Total Number of Pages : 16

Which of the following pairs is not
correctly matched ?

(A) Deterrent theory : to show futility of
crime to the society at large

(B) Preventive theory : to eliminate the
offender

(C) Retributive theory : pure vengeance

(D) Reformative theory : change the
personality of the offender

Right to ownership of a partnerin afirm s
(A) Sole ownership

(B) Co-ownership

(C) Limited ownership

(D) Corporeal ownership

Who considers international law is true
law ?

(A) Grotius
(B) Hobbes
(C) Holland
(D) Austin

Consider the following sources of
International law in the correct order in
which they are mentioned in the ICJ
statute

1) Judicial decisions
2) International customs

3) General principles of law recognised
by civilised nations

4) International conventions

Codes :
(A) 4-1-3-2
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Examine the two statements given
below and select the answers from the
answer code :

Assertion (A) : International Court of
Justice is the principal
organ of the United
Nations.
: International Court of
Justice has compulsory
jurisdiction over all
members of the United
Nations.
Answer Codes :
(A) Both (A) and (R) are individually true
and (R) is the correct explanation
to (A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
to (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Reason (R)

The effect of de jure recognition is that
state has been recognised in law. Such
recognition can be withdrawn

(A) Inlegal sense

(B) When recognised state becomes
member of UNO

(C) When recognised state declares
war against recognising state

(D) Non-fulfillment of a condition for
de-jure recognition

The following rights do not find place in
the ICESCR, 1966

(A) Right to work

(B) Right to adequate food

(C) Right to self-determination

(D) Right to social security

K-1815
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Read the two statements given below
and select the answer from the answer
code :

Assertion (A) : Ifaperson having a wife
alive marries again, the
marriage is void,
according to Hindu law.

Reasons (R) : Monogamy is the rule.

Answer Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation to (A)

(B) Both (A) and (R) are false but (R) is
not the correct explanation to (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Which of the following is not condition
for a valid marriage under the Hindu
Marriage Act, 1955 ?

(A) Neither should have a spouse living

(B) If the bride is below 18 years
consent of her guardian is
necessary

(C) They are not within prohibited
degrees of relationship

(D) Both the parties must be Hindus

A Muslim wife may sue for divorce under
the Dissolution of the Muslim Marriage
Act, 1939, if the husband has been
insane for a period of

(A) Oneyear
(B) Two years
(C) Three years
(D) Five years

Paper Il
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Where no form of marriage was gone
through under Section 7 of the Hindu
Marriage Act, the marriage is

(A) Valid
(B) Voidable
(C) Void

(D) Ineffective

In which of the case the question of
constitutional validity of Section 9 of the
Hindu Marriage Act, 1955 came for
consideration for the first time by the
Supreme Court ?

(A) Digvijay Singh v. Pratap Kumari
(B) T.Sareethav. T. Venkata Subbaiah
(C) Yamuna Bai v. Anantha Rao

(D) Saroja Rani v. Sudarshan Kumar

What is the significance of 2001
Amendment to Indian Divorce Act in
relation to grounds of divorce available
to Christian women ?

(A) Cruelty perse is a ground for divorce

(B) Cruelty coupled with Adultry as
ground

(C) Cruelty coupled with Desertion as
ground

(D) Cruelty is not at all a ground

Agreement is meeting of
(A) Brains

(B) Minds

(C) Hands

(D) Documents

To convert a proposal into promise, the
acceptance must be

(A) Qualified

(B) Unqualified

(C) General

(D) Absolute and unqualified
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An offer can not be accepted unless
and until it has been brought to the
knowledge of the person

(A) Who made the offer

(B) Who asked for the offer

(C) Who made invitation to offer
(D) For whom it is made

When consent is given by minor
agreement will be

(A) Voidable
(B) Void

(C) lllegal
(D) Valid

Examine carefully the two statements
given below and select answers from
the answer code :

Assertion (A) : Collateral transaction
to wagering agreement
is enforceable by law.

Reason (R) : Wagering agreement

is not illegal.
Answer Codes :
(A) Both (A) and (R) are correct
(B) (A) is correct but (R) is wrong
(C) Both (A) and (R) are wrong
(D) (R) is correct but (A) is wrong

When a contract contains a stipulation

by way of penalty on breach of contract

the aggrieved party is entitled for

compensation of

(A) Stipulated amount, if actual loss is
proved

(B) Stipulated amount, even actual loss
is not proved

(C) Reasonable amount but not more
than stipulated amount

(D) Reasonable amount, even more
than stipulated amount if loss is
proved
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Contract becomes impossible of
performance if

(A) Goods are not available in the
market

(B) Workers are on strike

(C) Subject matter of the contract was
destroyed at the time of contract

(D) Money is not available

Which of the following pairs are
correctly matched in the maxim “Injuria

Sine Damno” in the code ?
1) Actionable perse
2) Not actionable

3) Actionable on proof of damage

4) Actionable on violation of legal right

Codes :

When a person consents to the infliction
of some harm upon himself, he has no
remedy for that tort — is considered as

A) Inevitable accident
B) Volenti-non-fit injuria
C) Plaintiff the wrong doer

(
(
(
(D) Act of god
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Examine the two statements given
below and select answers from the
answer code.

Assertion (A) : When you invite
somebody to your
house, you can not
sue him for tresspass

Reason (R) : One can notenforce a
right which one has
voluntarily waived.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation to (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation to (A)

(C) (A)istrue and (R) is false

(D) (A) is false but (R) is true

Mark the correct answer.

(A) Tortis a statutory remedy
(B) Tort is a criminal wrong
(C) Tortis a civil wrong

(D) Tortis a contractual wrong

Match the following :

a) Exturpi causa i) damage
non-oritur acto without
violation of
legal right
b) Res ipsa loquiturii) violation of a
legal right
without causing
any harm
c) Damnum sine iii) froman
injuria immoral cause,
no action arises
d) Injuria sine iv) the thing
damno speaks for itself
Codes :
@ () () (@
(A) i iv i [
(B) iv i [ i
(C) i iv [ i
(D) i i v i
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Which of the following are essential

constituents of negligence ?

1) Defendant was under legal duty to
exercise due care

2) This duty was owed to plaintiff

3) dDefendan’[ committed breach of such

uty

4) Breach of such duty was the direct

and proximate cause of the damage

alleged
Codes :
(A) 1,2and 3 (B) 1,2,3and 4
(C) 2,3and 4 (D) 1,2and 4

“Crime is an act committed or omitted in
violation of public law forbidding or
commanding it” — it was given by

(A) Sir William Black Stone

(B) Kenny

(C) Good Heart

(D) Salmond

Study of mens rea requires

(A) Intentional wrongs

(B) Wrongs of negligence

(C) Wrongs of absolute liability
(D) All the above

Match the following :

List-1 List-1I
a) Insanity as a i) Emperor V.
defence Barendra
Kumar Gosh
b) Common intention ii) R.V.Mc.
Naughten
c) Necessity iii) State V. K.M.
Nanavathi
d) Murder on iv) R. V. Dudley
grave and sudden and Stephens
provocation
v) R.V.Govinda
Codes :
@ () () (@
(A) i i iii iv
(B) ii i iv iii
(C) iii i iv v
(D) v ii iv [
K-1815
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‘A’ saw a ring belonging to ‘Z’ on the
table in the house of Z’. ‘A’ hides the ring
in a place where it is highly impossible
that it will ever be found by ‘Z' with an
intention to take the ring from the hiding
place, when the loss is forgotten by 7’
after some days. ‘A’ has committed.

(A) An offence of theft as soon as he
hides the ring

(B) An offence of theft as soon as he
took the ring from hiding place

(C) Only attempt to commit theft
(D) Both (A) and (B)

Nothing is an offence which is
committed by a child below the age of

(A) 5years
(B) 7 years
(C) 9years
(D)

D) 12 years

‘A’ has knocked down two teeth of ‘B’ .
‘A’ has committed the offence of

A
B

) Grevious hurt
)

C) Culpable homicide
)

Simple hurt

(
(
(
(D) Attemptto hurt

Under which Section of the Indian Penal
Code a person can be convicted for the
offence of bigamy.

(A) Sec. 375 of IPC
(B) Sec. 377 of IPC
(C) Sec. 494 of IPC
(D) Sec. 498 of IPC
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The hospital has been heard as an

industry by the Supreme Court of India

in which of the following case ?

(A) Hospital Mazdoor Sabha v. St. of
Bombay

(B) Safdar Jung Hospital Case

(C) Mukund Iron and Steel Case

(D) Jay Engineering Case

Notice of strike under Sec. 22 is

required to be given before declaration

of strike

(A) in case of non-public utility service
industry

(B) in case of public utility service
industry

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Assertion (A) : Only a Section of labour
force is protected under
Sec. 17 of the Trade
Union Act.

Reason (R) : This protection is

available only to office
bearers and registered
Trade Unions.
Answer Codes :
(A) Both (A) and (R) are true and (R) is
correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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Lay-off can be for a maximum period of
days as per the Industrial Dispute
Act, 1947.

(A) 15 days
(C) 45 days

(B) 35 days
(D) 48 days

‘Teacher’ is heard is not a workman by
the Supreme Court of India in

(A) Ramnath V. Delhi University
(B) Osmania University Case
(C) Sundaram Bal Case

(D) B.W.S.S.B. V. A. Rajappa

Which of the following statement is not
correct with respect to registered Trade
Union ?

(A) Itis a body corporate

(B) It has perpetual succession and
common seal

(C) It acquire and hold both movable
and immovable property

(D) It can not sue and be sued in its
registered name

The provisions of chapter V-B of I.D. Act
are applicable to

(A) Industries employing less than 100
workmen

(B) Industries employing 100 or more
workmen

(C) Both (A) and (B)
(D) Neither (A) nor (B)
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